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lcBCsl

Full Marks :40 Trme : Two Houts

The figures in the margin indicate full marla.
Candidates are required to give their answers

in their own words as far as practicable.

Group - A

Answer any.,fue questions from the following t, 
, ,: , O

1. Show that Joule-Thomson experiment is an irreversible
process.

2. Calculale the volume occupid by a 8.2 millimoles of gas

at 27"C and 20 atm pressure. Given that the
compressibility factor of the gas is 0.86.

3. Discuss the Euler's reciprocity relation What is its utility?

4. Heat supplied to a Carnot engine is 1897.86 kJ. How
much useful work can be done by the engine which
works between 0"C and 100'C?

5. |dH for any system is zero - citicizn or justify.
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